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A. SNPs: Maternal-only heterozygous
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D. Indels: Maternal-only heterozygous
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B. SNPs: Paternal-only heterozygous
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E. Indels: Paternal-only heterozygous
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Supplemental Figure S4. Calibration of the model’s accuracy.
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C. SNPs: Both parents are heterozygous
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F. Indels: Both parents are heterozygous
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Shown here is the accuracy as a function of the prediction probability, before and after variant recalibration. The “perfectly calibrated” line
represents a situation in which the probability assigned to a prediction perfectly describes the probability of being correct (in terms of accuracy).
Presented in the lower pane of each figure is the marginal distribution of loci in each bin.



